@ x+2<x-3

® 2x-3=3x

(@)2(3—x)<x—|—3

@ x+1<x?

® 3x+2<-3+3x

i

23-x)<x+3, 6-2x<x+3, -3x+3<0




2x—1>3x
2x—3x>1
—x>1
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F(x) = 5% y = 5 2 SJnjgick, mebA 5 = 3x 4+ 2 olck. I
H2 x=1
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atAS 1=2H? (g 2 7H)

D)D-0Ox2 @ @+0Ox2
® Ox54+0Ox7 @®x5—©x7
® @x(=5)+Ox(-7)

@ x &A
@y AaA
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2x +2x =16

Lx=4,y=28

@A x, y 22 HASHH k = 4 o]t
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10. AYRFSA|3-x> -1 3x-122) J HEa<x<b
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@17 @ 16 ® 15 @ 14 ® 13
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3—x>-1, —x>-1-3, x<4,
3x—1>2, 3x>3, x>1090R=Z
dHEFAY = 1<x <4,
wt2bA] g2 + b2 =14 16 = 17 oJtt.




11. AEESA S EWH?
x+2>1
DO -2<x<1 @ 1<x<2 ® -1<x<?2
@ 1<x<?2 ®)-1<x<2

3(x-2)<x-2
x+2>1

3x—x<-2+6
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x> -1
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©5=—(-3)+2

@4=-(-2)+2

g2t ©, @° y = —x + 2 99| Holot,
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® 1 @ 2 ® 3 @1 @)

y=-2x-89 xEH2 40|82 AAFLFy=ax+b
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L=
@ (L, 3) © (-1, 6)
® (6, 1) ® (-4, 6)
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s}, y2hao] gro] 2t
wetA] y 27} 621 ©, @9] A4 el Q= Aol




15. #HEBA SolM F Ay =x-1, y = ax -4 ¢ 2] Fu7}

®-4 @0 On @ 7 ® -7
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y=x-1°]% (3, b) EAUHER
b=3-1 ..b=2
y=ax-47t4 (3,2) EAHUERE
2=3a-4 .a=2
ab=2x2=4
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x| thsll BElstH y=—-ax+5 y=2x-b
WHo] B45) Yk AL ANt Folnz
—a=2,a=-2°]1 5=-b,b=-5 0|t}
na-b=-2-(-5)=3
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4000 + 600x < 700(x + 4)

40 4 6x < 7x + 28
Lox>12
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A 25 x2S o,
2000 x 50 x 0.8 < 2000 X x
x> 40
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